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I. Obligation of 4 cups of wine
a. Women: per 9”21 — obligated in 4 cups as they were involved (as agents or beneficiaries) in miracle
b. Sx1pw. cup must have enough base to be diluted and made a “proper cup”
i. If: imbibed without dilution (3 parts water) — R’
1.#427 in that case, only fulfilled obligation of wine, not “nobility” (m7'n)
ii. If: imbibed in immediate succession — Rx’
1. 427 only fulfilled obligation of wine, not “4 cups”
iii. If: he shared with his family — rx’
1.»7237. as long as he drank a majority of the ny> 1y
iv. Challenge: Xn>Ma rules that 4 cups require a n’y»a7, whether diluted or undiluted, old or new
1. Answer: noy»a7="proper cup” i.e. the total wine-base must be 1 n’y>17, enough to make 4 nvya3
v. End of 8772 nTv "1 requires that the wine have the taste and look of wine — (v1)
c. ¥r7712 men, women and children are obligated in 4 cups
i. Challenge: what is the purpose of giving wine to children?
ii. Rather: children are given nuts etc. before 77v to keep them awake->they’ll ask questions (»”1 would do this)
1.4”7 we grab n¥n from each other in order to keep the children awake so that they will ask questions
2.Note: R2py "1 never told students to go home except on 2"y (for kids) and "1y (to eat)
II. xn»1a-Obligation of 210 DY NNNWY - a man must elate his family members (v2)
a. p’1m use wine
b. /7172 /7. each in the appropriate way
i. Men: wine
ii. Women: buy them new clothes (Babylonia: colored clothes; ") — white flax clothes)
II. xn»11 authored by 1721 — when the p”nia stood, "nnw was achieved through meat (0'n%w — v3)
a.Now: without p”nia, nnnw is facilitated through wine (v4)
IV. Method to measure a n’y»a
a. pny’’1. meas.cup used in *m22x (for bran) was exactly a n% — used to measure 4 nyy>17 for noa
b. 711 /1. ancient mnY in 712V was 1 oy larger than that — they would use remainder to measure for noa
c. NTOP 77 TP is 2 MYARR X 2 MYasR X 2.7 myasR (similar to configuration of nXo 'n for mpn per v5)
i. Suggestion: 1YW in the vTpn was made up of joints; else how could they ablute in a Mmpn which is 1x1 Mnr?
ii. Rejection: perhaps they performed ablution in nn%w Y® o> (holds 150 mR&pn — see : 17 PNTY)
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